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QUESTION 1
You are configuring high availability within the network layer of your FlexPod configuration.

In this scenario, what are two Cisco best practices for designing vPC on your Cisco 9000 Series switches? (Choose
two.)

A. Peer keep-alive connectivity between the switches should be established.

B. A minimum of four 10GB Ethernet connections are required for vPC.

C. The vPC auto-recovery feature should be enabled.

D. Port channels should be configured for LACP passive mode.

Correct Answer: AB

vPC also relies on the periodic keepalive messages to determine when one of the connected devices on the peer link
fails. vPC peer link ?The link used to synchronize states between the vPC peer devices. Both ends must be on
10-Gigabit Ethernet or 40-Gigabit Ethernet interfaces. Reference: https://www.cisco.com/
c/en/us/td/docs/switches/datacenter/nexus9000/sw/6-x/interfaces/configuration/guide/

b_Cisco_Nexus_9000_SeriesNX-OS_Interfaces_Configuration_Guide/ b_Cisco_Nexus_9000_Series_NX-
OS_Interfaces_Configuration_Guide_chapter_0111.html

QUESTION 2

A customer has installed FlexPod and verified that all wiring connections are correct. However, the customer cannot see
any FC LUNSs from the NetApp AFF systems.

In this scenario, which three configuration elements should the customer verify? (Choose three.)
A. FC zoning

B. igroup configuration

C. ALUA settings

D. FC portsets E. MTU configuration

Correct Answer: BDE

QUESTION 3

Which Cisco Nexus series switch supports NX-OS standalone mode or Application Centric Infrastructure (ACI) fabric
mode?

A. Nexus 7000
B. Nexus 3000

C. Nexus 9000
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D. Nexus 5000
Correct Answer: C

Reference: https://www.cisco.com/c/en/us/products/collateral/switches/nexus-9000-series-
switches/guidec07-733228.html

QUESTION 4

A customer is designing a FlexPod solution to use both NFS and iSCSI for connectivity, including traditional FC for
legacy applications. The Cisco UCS Fabric Interconnects will be connected to both Nexus 9000 Series switches and FC
switches.

Which UCS capability allows you to accomplish this task?

A. FC uplink ports

B. VSANs

C. unified ports

D. SAN pin groups

Correct Answer: C

QUESTION 5

A customer has ordered a FlexPod Select solution with a NetApp EF570.

In this scenario, which three storage protocols are available for use? (Choose three.)
A. InfiniBand

B. CIFS

C.iscsl

D. NFS

E.FC

Correct Answer: BDE
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